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A-asfalt

km P/L m m | Kkruszywo m? m

Kb-kostka

betonowa
Z1 - P 3,0 5,0 Kb 9,9 2.8 687
z2 00+023,83 P 3,0 5,0 Kb 55 15 687
Z3 00+029,94 P 4,3 6,3 Kb 75 15 686
Z4 00+061,88 P 4,2 6,2 Kb 73 15 685
Z5 00+074,12 P 5,0 7,0 Kb 8,5 15 684
Z6 00+084,60 L 5,0 12,2 Kb 10,8 15 725
z7 00+096,90 P 5,0 7,0 Kb 8,5 15 683
Z8 00+116,57 P 35 55 Kb 6,3 15 682
Z9 00+125,19 P 3,0 5,0 Kb 55 15 682
Z10 00+137,05 P 4,2 6,2 Kb 73 15 681
Z11 00+150,80 L 5,0 12,2 Kb 10,8 15 724
712 00+159,61 P 5,0 7,0 Kb 8,5 15 680
Z13 00+198,34 L 45 6,5 Kb 78 15 690
Z14 00+027,53 P 5,0 7,0 Kb 8,5 15 678
Z15 00+242,47 L 5,0 7,0 Kb 8,5 15 647
Z16 00+243,03 P 5,0 7,0 Kb 8,5 15 616
Z17 00+270,94 P 5,0 7,0 Kb 8,5 15 615
Z18 00+283,70 L 43 6,3 Kb 75 15 646
Z19 00+304,41 P 50 7,0 Kb 8,5 15 614
Z20 00+312,64 L 4,0 6,0 Kb 7,0 15 624
Z21 00+326,02 P 50 7,0 Kb 8,5 15 613
722 00+326,16 L 4,0 6,0 Kb 7,0 15 624
723 00+347,87 P 50 7,0 Kb 8,5 15 612
724 00+367,92 L 50 7,0 Kb 8,5 15 622
725 00+378,56 P 50 7,0 Kb 8,5 15 611
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726 00+401,59 P 5,0 7,0 Kb 8,5 15 610
z27 00+413,55 L 3,5 45 Kb 58 15 620,621
728 00+416,80 L 3,0 4,0 Kb 5,0 15 620,621
Z29 00+415,26 P 4,0 6,0 Kb 7,0 15 609
Z30 00+438,88 P 4,0 6,0 Kb 7,0 1,5 608
Z31 00+448,87 L 5,0 7,0 Kb 8,5 15 619
732 00+460,34 L 4,0 6,0 Kb 7,0 15 618
Z33 00+486,91 L 4,0 6,0 Kb 7,0 15 630
734 - - 4,0 6,0 Kb 7,0 15 585
Z35 - - 5,0 7,0 Kb 8,5 15 606
236 00+534,50 L 5,0 7,0 Kb 8,5 15 588
Z37 00+554,80 L 5,0 7,0 Kb 8,5 15 587
738 00+564,11 P 3,8 58 Kb 6,7 15 583
Z39 00+576,21 L 5,0 7,0 Kb 8,5 15 586




